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NI Rt Sﬁ}ilﬂ* (external sorting):
Bubble sort
Quick sort

)L‘é-
=
Bl
T
e
=
,fo
SILT
il
\.\1

a
b.
c. Heap sort

d. Merge sort

2. T CRYFM ™ FIPh- AR IR PRRR BIRR 5 BT B A
a. int

b. char

c. enum

d. double

R HAE BIE AR AR T (W RAM A BB A

Virtual Memory
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Multi-programming

o o e

Cache Memory

=N

Time Sharing
4. = IH AR ] - el
a. CPU
b. Main Memory
c. ALU
d. ROM
5. = SRAM it » {7 H 2" ZEDRAM 19
a. GBS
b. #“?LT’J‘
LY
d. W% (%
6. Tﬂj[’ﬁ%ﬁ“’r%Z’%ﬁ@@ﬁ@@%ﬂp
a. E\ﬁ?@#é'“'ﬂ it P T
b. 0 =20 | 1) AH[FIAV A
c. U B



d. R
7. Nl ER e (De morgan) E

a. A+A=1

b. A+B+C=A+B+C

c. (A+B)+C=4+(B+0C)

d. Ae(B+C)=(AeB)+(AeC)
8. ]Jﬂg*%[fﬁ FIU> {8 = orkhlin ﬁ ij[ﬁqﬁ?msz 79
Modern
Gateway

Router

/e o o P

Repeater
9. NF|mE- %KI@JFE(TOpology)ﬁﬁﬁqu\'%@?‘?pfjﬁ,l?
a. Bus
b. Ring
c. Star
d. Mesh
10. — Jﬂ&’{‘{[ﬂ IR (Cyhnder)ijf“
[ﬁifﬁegum#
= B FE | (track)PV & Fﬁ
F’?EJF £E ﬁl[ﬁﬁﬁhgﬁ%pﬁ# F
R
1.+ vlJa*%‘}'*fﬁlJFIi ’ I’Fl?ﬁé ol F 1R 2 EFR 2 T e 38V R ]2
a. Index table
b. DMA
c. Hash table
d. Double linked list

12, N 5[ H 2R R e

oo op

a. Oracle
b. Rational Rose
c. Sybase
d. MS SQL
13. CHHEH class [IUfsk = I E TAORLED g - ZFrpg e
a. Polymorphism
b. Inheritance
c. Encapsulation
d. Abstraction
14. %1%} UML (Unified Modeling Language)fiv#55™ » [ H %ﬁ%’j
a. GRS BT



b. Use Case Diagram fL= Bz 3k 1~
c. pIIEF fr’?ﬁ’l%drﬁ i
d. RLPIFF B ﬁi?ﬁé@’cﬂﬁ Fmiﬂm
I5. [f7s — JRAPTE AT 640%480 ~ 256 A - = bl DRERGR?
a. 300K bytes
b. 75M bytes
c. 2400K bytes
d. J‘;_HF‘I:J[E
16. &S5RI & 5 7 A iy (parity bit checking)fiu#ssr > B
a. f'ITEIESET=rR [ﬂ“{ﬁ?ﬁﬂjp J@ﬁ
LR e = iRk
c. R FHEIR o 2 2 SRR > IR (Y
[aﬂﬁﬁﬁﬂj ik rf’Tr@ Rl
17. | %JE [ Ef'»j%f}a'di (Sequential Search)fit##3% (7 HiFE?
a. Eﬁv[ AL
b. AR JEHj [HTFIEEY £ O(n)
R o ﬂ 191 Fﬁij@iﬁ;
- RV - P
ﬁ%ﬁf@%@ﬁf[ chsr* ’1fr:§§ hL?
- ‘ﬂy ﬁg@vﬁﬁ%ﬁ@gﬁfﬁgflf |
B B o~ GRRLEIEY
T A TR ﬁgqallfﬁ%ﬁ B Ry S EAHG
. HRESHH - EFS 100%38 L
F;{EJL_—%E%_IFUJEﬂ—Eﬁ‘E}pw“ FUB [ E5ERE (ADSL) 1 #5575 ﬁ?{%ﬁ%@
SR PR R
PR R R
i * FHT 4 Modem
TR ﬁﬁﬂ FRE T - AR
20. GfET R I["f@?ﬂ VTG T H 7 ARl B ) » ToRfah s
R 0 0101011(2 r+)+24( ) + 2D ( A HERP)
a. aditpLT PR
b A ELE B
c. AmfN AT 150
d. I HFiE
21. F%:JFEH‘“ ’E[Eﬂj » &5 T (Normalization) iy = fol | TV EL{f?
a. HER R Fl1E)
b, R R B
c. MEOIH R ﬁ'J

18. ')+

19. &

.ao.cf@%ao.cf.mha.o
P—]



d.

i

22. M RLC A ik Sk f %ITIFH' %'Pﬁl‘lfkﬁg (@%int I'FFIZbyte; char |’FF[1
byte) ?

union number {

}s

int x
char ch[2];

union number test[15];

23. E% IH @IEFJI[—{ I8 ;r-_aq'F:[ lEﬁkEﬂj ;[:EI | Ti'&‘ﬁ'kf?

a.

b.

C.
d.

1< EJ ROM
jd"ﬁjﬁﬁ;%
CPU fjjﬂ,.j\ L

24, 7~ f[ﬁiﬁlj@j‘ i 7 BI(AVL Tree)f[ 1 » FrE| ;;W{fjj‘ firt<" (Balance Factor)
Roc R e 2

a.
b.
C.
d.
25. W[E

e o o P

= i

1.

2

1

0

-1

EJ% = € R T
51— [P ¢ RAM A=t
1o by AR RAM
Windows ﬁ%ﬁ?‘[ﬁ ?E} F=DOS P
~ AT @i ROM R

R (25%)

What are interrupts? How is an interrupt processed in a modern computer
system? (5%)

Please give the execution results of the following C program. (10%)
# include <stdio.h>

main(){

int aa[7], *p=aa, *q=&aa[5], 1, X, y;

aa[0] = 0; aa[1]=1; aa[2]=2; aa[3]=3; aa[4]=4; aa[5]=5; aa[6]=6;
for (1=0; 1<5; i++) x= *p++;

y=++(*p)

*q=(*q!=5)?0:1;

printf("%d  %d %d %d %d\n", 1, *p, X, y);



3. Please write a complete program to perform all the following functions. You
are welcome to use any programming language and make any required
assumptions. (10%)

(a) input the scores of a class with 100 students
(b) output the average score and the number of fails of the class

(c) output the highest score and the lowest score of the class
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